=h-VARAVA
1 8O0=xzEHNEEDVOXRADY R —
MIEKR=

FTO0MUBRKRF-—LAESE

50 bk 5=

* E —HRETEAGUELHRERBR
HH B ¥m27F9819H
B T EREINEELHREIE



EE/NFEYORAVN) =) L—THEXRE

FR27E9A 198
BHRESHLERE LHES

= ==
SRR
B R Kz =0 LE NG BA
16:00 HMEh 25.0°C 45% it 1.7



EE/NEAIZN N -HHERZF1EER S =

FBFHIM

N7 ® F A4 i Al #x
.......... T

1 o W5 OFE R bmEsgrsT § 25.6

2 BRI K BH EHRC 5) 32.7

3 N B St FEKRC hH 41.9

4 iR B ¥h ‘eAtc 5 42.8

5 1= £ FH Kamc 5 44.6

6 S B HLAmIC 5 45.3

7T R OJR SE KUERRC 5) 46.4

8 1 P§ — agEEbEEEHETT b 99.9

9 i B ® fliewc 6 7.9

10 5 = Ziawc 6 27.4

11 HE B i £ & AwcC 6 39.0

1288 N EE {hig#gc 6 41.7

1393 M e FHigwgc 7 1.3

14

15

16

17

18

19

20

21

22

23

24

25




EE/NEAIZN N -HHERZF1EER S =

B+ F2H

N7 ® F A4 il Al Pk
.......... T

1 T OH KEmEEERsST 4 39.9

2 il 1 & KRIMRC 4 39.4

3 il H AR 4 45.5

4 il ] fim JHARC 4 h9.7

5 A% T B KRR ERE2I7 5 0.4

6 FE M W EEMmEmEsrI7T 5 0.8

TR PE B K BABERRC 5 5.6

8 izt FL & FJ] A JHRC 5) 10.9

9 K PH E Y UEAIRC 5) 11.6

10 & HF  FJ K UEMRC 5) 19.8

11K Rk A BEEEME s 5 25.8

12 B [F BB EHEREMA 5 27.5

13

14

15

16

17

18

19

20

21

22

23

24

25




EE/NEAIZN N -HHERZF1EER S =

-5 17K,

NEfr E® F 4 i & il Fx
.......... e

18 ZH & HEHRC 5 4.1

2 iZH AN B AJENRC 5 9.5

3l AR & F]JEHRC 5 14.3

4 B 8 EEpRE s 5 298

5 I B = < BHigwnriz 5 34.6

6 iZH A IF APHHRC 5 36.0

T I B RiEMERMA 5 37.7

s HF O 3% IEUHEME LI 5 40.5

9 7 e b s5 7§ 40.8

10 @8 )1 B YR REEE BEisrS7 § 49.7

11l A # A R 5 59.9

12 3 W & B oEELbEsIT 6 1.3

1314 B O 78 T2 HHRC 6 8.8

14i= % f fEAKC 6 26.5

15 2 B R F R 6 28.7

16

17

18

19

20

21

99

23

24

25




